Alg 2A Ch 58 Test Practice Test 60‘“‘;& ms o

Show work for full credit. Circle, box, or highlight your answers when answer lines are not given.
Each question’s point value appears in < >.

Divide using long division. Write any remainder as a fraction of the divisor: <Sea> 5 &
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Divide using synthetic division. Write amy remainder a2 a fraction of the divisor: <1 ea. =
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3. P(x) = 4x> = 2x* = 5x + 3
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Write a polynomial function with the given roots: <5ea.>
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Use Descartes’ Rule of Signs to determine the possible number of positive and negative real zeros: <5ea.>

5. P(x) = 9%° +5x%+1x -3
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Find all the zeros for each function: <5ea.>

6. P(x) = 2x* +3x* = 17x* = 27x -9 (hint: try=1)
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| 7. P(x) = 2x° —3x%-18x -8
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Factor each polynomial completely: <5 ea.>
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